## **Regularity of Solutions for the Evolution** p-Laplacian Equations

LI Hui-lai (李辉来)

(Department of Mathematics, Jilin University, Changchun, 130023)

ZHAO Jun-ning (赵俊宁)

(Department of Mathematics, Xiamen University, Xiamen, 361005)

**Abstract** Consider the Cauchy problem for the evolution p-Laplacian equation

$$\begin{cases} \frac{\partial u}{\partial t} = \operatorname{div}(\left| \nabla u \right|^{p-2} \nabla u), & (x,t) \qquad Q_T = R^n \times (0,T), \\ u(x,0) = u_0(x) & L(R^N), & x & R^N. \end{cases}$$

In terms of the uniform estimates to the regulized solutions of the problem above, we prove

that  $u_{x_i} = c_{\text{oc}}^{\beta_i \beta'(1+\beta)}(Q_T)$ , where the Hölder exponent with respect to t is great than  $\frac{\beta}{2}$ .

Key Words regularity; Hölder estimate; p-Laplacian

1991 MR Subject Classification: 35K55, 35K20

**CLC number**: 0175.26

Document code: A

Article ID: 1000-1778 (2000) 01-0096-03

In this note we consider the following Cauchy problem:

$$\begin{cases} \frac{\partial u}{\partial t} = \operatorname{div}(|\nabla u|^{p-2}\nabla u), & (x,t) \quad Q_T = R^n \times (0,T), \\ u(x,0) = u_0(x) \quad L(R^N), & x \quad R^N, \end{cases}$$
(1)

where p > 2 is a constant. It is well known that there exists a solution  $u = C_{loc}^{\alpha}(Q_T)$  $L(Q_T)$  to (1), with  $u_{x_j} = C_{loc}^{\beta,\beta,2}(Q_T)$ , j = 1, 2, ..., N (see [1], [2]). The proofs of  $u_{x_j}$  $C^{\beta,\beta'2}_{\mathrm{loc}}(\mathit{Qt})$  are very complicated and difficult. In this note we use another approach to prove the Hölder continuity. We prove  $u_{x_i} = C^{\beta,\beta'(1+\beta)}_{loc}(Q_T)$ , where the Hölder exponent with respect to t is great than  $\frac{\beta}{2}$ .

**Definition** A function u(x,t) defined in  $Q_T$  is called a weak solution of (1), if u $C^{\alpha}_{\mathrm{loc}}(Q_T) = L^p(0, T: W^{1,p}_{\mathrm{loc}}(R^N)) = L^-(Q_T), \ \alpha = (0,1), \ and \ for \ any \ \mathcal{Q}(x,t) = C^1(\overline{Q}_T) \ with$  $\mathcal{Q} = 0$  when |x| is large enough, it holds that

(5)

(6)

$${}_{R^{N}}u(x,t)\mathcal{P}(x,t)\,\mathrm{d}x + \int_{0}^{t} \left[ -u\mathcal{P} + \left| \nabla u \right|^{p-2} \nabla u \cdot \nabla \mathcal{P}\right] \mathrm{d}x \,\mathrm{d}t$$

$$= \int_{R^{N}}u_{0}(x)\mathcal{P}(x,0)\,\mathrm{d}x \,. \tag{2}$$

We prove the following theorem.

NO. 1

**Theorem** Let  $u_0(x) = L(R^N)$ ,  $u_0 = 0$ . Then there exist constants C > 0 and  $\beta = (0, 1)$ such that the solution of (1) satisfies

$$\left| u(x,t) \right| = \frac{C}{(p-2)t}, \quad u_{x_j} = c_{\text{loc}}^{\beta,\beta'(1+\beta)}(Q_T). \tag{3}$$

According to [3], the solution u of (1) is the limit of the solutions of the following boundary value problems

following boundary value problems
$$\begin{cases}
\frac{\partial u}{\partial t} = \operatorname{div}((\mid \nabla u \mid^{p-2}) \nabla u), & (x,t) = B_n \times (0,T), \\
u(x,t) = 0, & (x,t) = B_n \times (0,T), \\
u(x,0) = u^{0n}(x), & x = B_n,
\end{cases}$$
where  $B_n = \{x; \mid x \mid < n\}, u^{0n} = C_0^1(B_n) \text{ satisfy} = u^{0n} = 1, u^{0n}$ 

 $\lim_n u_{0n} = u_0 \qquad \text{a. e. on } R^N.$ 

Let  $u_n$  be the solutions of (4). Set

$$v_n(x, t) = \lambda^{\gamma} u_n(x, \lambda t), \quad \lambda > 1, \quad \gamma = \frac{1}{p-2}.$$

Then  $v_n$  satisfies

$$\begin{cases} \frac{\partial v}{\partial t} = \operatorname{div}(|\nabla v|^{p-2} \nabla v), & (x,t) & B_n \times (0,T), \\ v(x,t) = 0, & (x,t) & \partial B_n \times (0,T), \\ v(x,0) = \chi^y u_{0n}(x), & x & B_n. \end{cases}$$

Set  $w = v_n - u_n$ . Then by Comparison Principle w = 0 and

$$= \int_{B_n} w(x,t) \mathcal{Q}(x,t) dx - \int_{0}^{t} w \mathcal{Q}dx d\tau$$

$$+ \int_{0}^{t} \int_{B_n} (|\nabla v_n|^{p-2} \nabla v_n - |\nabla u_n|^{p-2} \nabla u_n) \cdot \nabla \mathcal{Q}dx d\tau$$

$$= \int_{B_n} (\lambda^{y} - 1) u_{0n}(x) \mathcal{Q}(x,0) dx,$$

for any  $\mathcal{P}$   $C^1(\overline{B_n \times (0,T)})$ , with  $\mathcal{P} = 0$  near  $\mathcal{B}_n$ . In (6) by an approximate process, we can take

$$\mathcal{P}= (w - k)_+, \qquad k = (\chi^{Y} - 1) \quad u_0 \quad L.$$

Then we get

$$\frac{1}{B_n}(w-k-\epsilon)^{\frac{2}{+}}dx + 2\int_{0-B_n-\{w>k\}}^{t}(|\nabla v_n|^{p-2}\nabla v_n) - |\nabla u_n|^{p-2}\nabla u_n)(\nabla v_n - \nabla u_n)dxd\tau = 0.$$

 $k \text{ a. e. on } B_n \times (0,T)$ . Thus

© 1994-2010 China Academic Journal Flectronic Rublishing House. All rights reserved  $\eta_{n}$  htt

Divide (7) by  $\lambda$ - 1 and let  $\lambda$  1<sup>+</sup> we get

$$|\mathcal{Y}u^n(x,t) + tu^m(x,t)| \qquad \mathcal{Y} \quad u^0 \quad L$$
.

This inequality implies

$$|u_t(x,t)| = \frac{C}{t}$$
.

Notice that for fixed t (0,T), u(x,t) is a solution of the elliptic equation  $\operatorname{div}(\left| \ \triangledown u \right|^{p-2} \triangledown u) = u_l(x,t), \quad x = R^N.$ 

By [4], there exist constants  $\beta$  (0,1), C > 0 depending only on  $|u^{\dagger}|_{L}$ ,  $|u|_{L}$  such that  $|\nabla u(x_{1},t) - \nabla u(x_{2},t)| C|x_{1} - x_{2}|^{\beta}$ . (8)

We now prove that  $\nabla u$  is Hölder continuous in t. For convernience, we assume that u is a smooth solution; otherwise, by the uniqueness of solution we can consider the regularized problem. Take the  $x_j$ -derivative in (1) to obtain

$$\frac{\partial u_{x_j}}{\partial t} = \left( \operatorname{div}(\left| \nabla u \right|^{p-2} \nabla u) \right)_{x_j}. \tag{9}$$

Let  $x_0 = R^N$ ,  $0 < t_1 = t_2$ ,  $\Delta t = t_2 - t_1$ ,  $B(\Delta t) = B_{(\Delta t)}^{\delta}(x_0)$ . Integrating (9) by parts over  $B(\Delta t) \times (t_1, t_2)$ , we get

$$u_{x_{j}}(u_{x_{j}}(x,t_{2}) - u_{x_{j}}(x,t_{1})) dx = \int_{t_{1}-B(\Delta t)}^{t_{2}} (\operatorname{div}(|\nabla u|^{p-2}\nabla u))_{x_{j}} dx dt$$

$$= \int_{t_{1}-B(\Delta t)}^{t_{2}} \operatorname{div}(|\nabla u|^{p-2}\nabla u) y d\sigma dt = \int_{t_{1}-B(\Delta t)}^{t_{2}} u y d\sigma dt.$$
(10)

where  $v = (v_1, v_2, ..., v_N)$  is the outward normal unit vector of  $\partial B(\Delta t)$ . By the mean value theorem, there exists  $x^* - B(\Delta t)$  such that

$$|u_{x_j}(x^*,t_2) - u_{x_j}(x^*,t_1)| C(\Delta t)^{1-\delta}.$$
 (11)

Therefore  $u_{i_j} = C_{\text{loc}}^{\beta,\beta'(1+\beta)}(R^N)$  and the theorem is proved.

## References

- [1] Chen Yazhe, Hölder continuity of the gradient of the solutions of certain degenerate parabolic equations, Chinese Ann. Math., 8B(3)(1987), 343—356.
- [2] DiBenedetto, E. and Friedman, A., Hölder estimates for nonlinear degenerate parabolic system, J. Reine Angew. Math., 357(1985), 1—22.
- [3] Wu Zhuoqun, Zhao Junning, Yin Jingxue and Li Huilai, Nonlinear Diffusion Equations, Publishing House of Jilin University, Changchun, 1996.
- [4] Peter Tolksdorf, Regularity for a more general class of quasilinear elliptic equations, J. Differential Equations, 51(1984), 126—150.
  - © 1994-2010 China Academic Journal Electronic Publishing House. All rights reserved. htt